SUEU o] 9 0|1, U A7} 3 o]gle}. of W

® 80 @ 85 ® 90



o8

ojn

£ 1 7lolH.

7} 2 7jolot.

i
4

Xfo
<

@ 2 o Hj

E
o}



02 5 AQFES 7t HEA H AL T T2 H?

D 72 =23 x 32
® 54 =22x32

® 168 =2%*%xT7

@ 60=23%x3x5

@ 108 =22 x33



D 22x3x7
@ 132

@ 3x5%x7x9
@210

® 5x7x11



@ 5 ® 7 @ 10 ® 15

@ 3



7F 18 & wj, 100 ©]

2~
T

=
)

@ 36 @ 54 @ 72 ® 90

O 18



T AQ% 205 3, 2x 3 xc 9 AWFSE 18, H2FH47} 270

A, a+b+c 9 TS Fotozt

D L
3%






=Ll
ok

of yebd wf, fZo A F Aol 917

)
F

Yol RN

@ 2

D -1.1



10, §rels it ool gl mE A48 Tatoleh
B
=
B
=
o



~

11. ot

o W 7} o8 7] &g 7185 otk AwAt A4 2
{7

Mo rlo

)
12 dlo

I EE ERIEE EIEE
H17]2(C) 7 10 11 14 6
Ax7e)| 8| 1| 1 | 3 | -6

O OB Kl @ d+ @7 OdA



12.

@ (-1)xb<0

@ (-1)xa>0

@ ax(-1)xb<0

® axb<0

® (-2)xaxb<0






14.

go n

LR
7

a,
2~ [e]
A A9

D b-a

b7Vaxb<0, bxc<0,axe>0% 0, & =

(¢ > bolr})

@ a+c @—é
a

@ b
C

@ a—=c¢

iy

ool



15.

T a bol et ach =a-b,a0b =a+b 2 HT W,

L0(5om) & Astol

au:



16. tt

oo

@ 0.05x%
@ 5x%

T Aaa 500g 5



® x%-9x



18. ohHA] 4x— 3y +

I ASE A%

5
3%

of st @A ArEa, x A ALE b,y
VS d B W, a+b+c+d 9 g Fotoleh

ol bo| —

O



)+(—4x + 10)




20. 6(x+2y) +4(2x - 3y) = ax + by oIt}. o|uf, ab °] FF-2?

@o @1 ® 2 @ 3 ® 4



21. "= 4 SOl x=2E sz 7IAE A S L=

D 5x-3x=-10 @ 10x+ 35 =120
® 2x-1=7 ® 6+ x=4x

® x+2=0



22. the W] % oS vl ¢ Ag BE 120

@ 4dx+5=9—->4x=9+5

© 5x+2=6x—> 5x—6x=-2

® 3x+5=6x-8—>3x-6x=-8-5
® -2x+3=3x-2—->-2x-3x=-2+3

@ x-1=-x+3->x+x=3-1

ORON®) ® 0,6 ONGNG)
@ 0,60 ® 6,6,



23.

ohe WA o shE Fohw?

0.2x4+04=-0.17x-0.34

D x=-3 @ x=-2
@ x=0 ® x=1







25. A, B ¥ NS A& 3km 2 2ElE A
Apolof|i= 3 AIZF 30 2] A|ZF 2fo]z
xkm 2t & w, F5HE Ao 2 HhE

X X
@5—5_230 ®)
@ 2x-3x =230 ®

Wl = wlx=

A& 2km 2 = A
PRI, 5 A4 Aolo] A g2
A2
x 7 x x 7
573 ®3-373
X
2 =9
S =230



